Chapter 14 Review Worksheet Name: K@j

1. Identify the conjugate acid-base pairs in the following reaction: Label A, B, CA, CB.
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2. Rank the following acids in terms of their strength (strongest to weakest).
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3. Identify the stronger acid in each pair and explain your choice.
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4. A detergent solution has a pH of 11.13 at 25°C. What is the [OH] in the solution?
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5. Pyridine, CsHsN, (Kp = 1.5 x 10) is an organic base, used in the synthesis of vitamins, drugs, and

fungicides. Calculate the pH of an aqueous solution, having 1.25 grams of pyridine in 125 mL solution.
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6. Write the ionization equations for H3PO3S, thiophosphoric acid. Which ionization would have the
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7. Predict whether each solution is acidic, basic, or neutral. Write equations for any hydrolysis reactions

that occur.
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8. Acrylic acid (CH2CHCO2H) is a precursor for many important plastics. K for acrylic acid is 5.6 x 107.

a. Calculate the pH of a 0.10 M solution of acrylic acid. X 2
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b. Calculate the percent dissociation of a 0.10 M solution of acrylic acid. pH- = *J—Uj (‘2' N
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¢. Calculate the pH of'a 0.050 M solution of sodium acrylate: (NaC3zH302).
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